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V = [1, 3, 4, 5, 6, 2, 1] P
Z = [V2 � V4] Q [V4 � V5] Q

[V5 � V2] Q [V3 � V5].

P = 47, 27, 73, 33 P

012131 45 6R 6 S TU T> ?VW X8 TYU 9<

B

C
D

E

F
G

HIJKL
Li,j

1− 2
CD

1− 3
EC

1− 4
DF

1− 5
C B

1− 6
BM

2− 3
CC

2− 4
D B

2− 5
DD

2− 6
BD

3− 4
CF

3− 5
E B

3− 6
CD

4− 5
C B

4− 6
BM

5− 6
C B

V = [1, 2, 4, 5, 3, 6, 1] P
Z = [V5 � V6] Q [V3 � V4] Q

[V4 � V6] Q [V6 � V2].

P = 62, 34, 24, 26 P
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V = [1, 4, 2, 5, 6, 3, 1] P
Z = [V4 � V5] Q [V2 � V4] Q

[V3 � V5] Q [V5 � V2].

P = 50, 46, 45, 56 P
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V = [1, 4, 5, 3, 6, 2, 1] P
Z = [V3 � V4] Q [V4 � V5] Q

[V5 � V2] Q [V6 � V2].

P = 93, 75, 88, 82 P
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V = [1, 3, 4, 5, 6, 2, 1] P
Z = [V5 � V2] Q [V3 � V5] Q

[V4 � V5] Q [V6 � V2].

P = 60, 78, 54, 64 P
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V = [1, 3, 5, 6, 4, 2, 1] P
Z = [V3 � V4] Q [V4 � V5] Q

[V5 � V2] Q [V6 � V2].

P = 29, 57, 28, 45 P
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V = [1, 3, 2, 4, 5, 6, 1] P
Z = [V5 � V2] Q [V4 � V5] Q

[V3 � V4] Q [V6 � V2].

P = 88, 34, 24, 32 P
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V = [1, 5, 4, 6, 3, 2, 1] P
Z = [V3 � V4] Q [V2 � V4] Q

[V4 � V5] Q [V5 � V6].

P = 25, 54, 29, 47 P
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V = [1, 4, 3, 5, 6, 2, 1] P
Z = [V4 � V5] Q [V3 � V4] Q

[V2 � V4] Q [V5 � V2].

P = 77, 96, 54, 101 P
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V = [1, 3, 4, 5, 6, 2, 1] P
Z = [V3 � V4] Q [V4 � V5] Q

[V2 � V3] Q [V5 � V6].

P = 21, 40, 93, 40 P
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V = [1, 3, 4, 5, 6, 2, 1] P
Z = [V2 � V3] Q [V4 � V5] Q

[V5 � V2] Q [V6 � V2].

P = 61, 27, 99, 14 P
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V = [1, 2, 3, 4, 5, 6, 1] P
Z = [V2 � V3] Q [V3 � V5] Q

[V4 � V5] Q [V5 � V2].

P = 73, 45, 87, 27 P
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V = [1, 4, 5, 3, 6, 2, 1] P
Z = [V3 � V4] Q [V4 � V6] Q

[V5 � V6] Q [V6 � V2].

P = 41, 64, 99, 49 P


